
hew30−7n

hew30−5a

−4 −3 −2 −1   0   1   2   3   4
−3

−2

−1

  0

  1

  2

  3

xr = log[L/Lu]

L u
L u=28cd/m2

L

xu=

range of office
  luminance

Fab(xr )=achromatic receptor responses N, W, N+W
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
+0,5 a=−1,00, b=0,50

a=1,00, b=1,00

dFab(xr )/dxr =4b/[a{exr /a+e−xr /a}2]

F−1_0,5

process N

m
N
=−0,49

F1_1process W

m
W

=0,98 m
N+W

=0,49

F−1_0,5
+ F1_1

process N+W
N

W

hew30−6a

−4 −3 −2 −1   0   1   2   3   4
−3

−2

−1

  0

  1

  2

  3

xr = log[L/Lu]

L u
L u=28cd/m2

L

xu=

range of office
  luminance

Fab(xr )=achromatic receptor responses N, W, N+W
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
+0,5 a=−0,90, b=0,50

a=1,00, b=1,00

dFab(xr )/dxr =4b/[a{exr /a+e−xr /a}2]

F−0,90_0,5

process N

m
N
=−0,54

F1_1process W

m
W

=0,98 m
N+W

=0,44

F−0,90_0,5
+ F1_1

process N+W
N

W

hew30−7a

−4 −3 −2 −1   0   1   2   3   4
−3

−2

−1

  0

  1

  2

  3

xr = log[L/Lu]

L u
L u=28cd/m2

L

xu=

range of office
  luminance

Fab(xr )=achromatic receptor responses N, W, N+W
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
+0,5 a=−0,80, b=0,50

a=1,00, b=1,00

dFab(xr )/dxr =4b/[a{exr /a+e−xr /a}2]

F−0,80_0,5

process N

m
N
=−0,61

F1_1process W

m
W

=0,98 m
N+W

=0,37

F−0,80_0,5
+ F1_1

process N+W
N

W

hew30−8a

−4 −3 −2 −1   0   1   2   3   4
−3

−2

−1

  0

  1

  2

  3

xr = log[L/Lu]

L u
L u=28cd/m2

L

xu=

range of office
  luminance

Fab(xr )=achromatic receptor responses N, W, N+W
Fab(xr ) = b e

xr /a − e−xr /a

exr /a + e−xr /a
+0,5 a=−0,70, b=0,50

a=1,00, b=1,00

dFab(xr )/dxr =4b/[a{exr /a+e−xr /a}2]

F−0,70_0,5

process N

m
N
=−0,69

F1_1process W

m
W

=0,98 m
N+W

=0,29

F−0,70_0,5
+ F1_1

process N+W
N

W


